L I8 B =4

D EIENE | 75 E1RKE
PEIEME - BEAATHMT , BN
EH 22120.
iR
PEIEMNEM,
PMRIBEESBEMRNEE,
vl HE
K By kEAHIEEMNEHEFE EH
. YN, 2 22120.)0
« TE 1.4305 184
EEHTF UEAYMESBIEMAR , RHEEHE , $90E
. W, Bt HE-MEOEE (LRSI IZRE),
o TEEEN 1.4305, B4R
B2ER
FiE
- BRI(PAG) , Bfa , THEN EREM
ENGIE 4 0]k
IRIE AT B R,
EZFm

- EUWE, EAT2EREMND EEME
- BEEIBEN  ERToEEME

&3]
ITTITTEFET T |
& [l
, APz
m ! |
= | ’
=ﬂ,
2
O d
w d,
picture 1 picture 2 with locking
TRER
R¥ ws HEmE" I [ ]
dy d; d; Iy I I3 Iy Fy F» min max.
-0,02 = min -0,15 = =
-0,05
[mm] [mm] [N] [°C] [9]
TEBE - A 1, BEILIN
6 M12x1,5 25 45 6 10 5 17 7 19 -30 80 35 22120.0226
8 M16 x 1,5 31 54 8 12 6 19 14 24 -30 80 62 22120.0228
S8R -#k 2, BHITN
6 M12x1,5 25 45 6 10 5 17 7 19 -30 80 35 22120.0236
8 M16 x 1,5 31 54 8 12 6 19 14 24 -30 80 60 22120.0238
TEHE - A 1, THN
6 M12x1,5 25 45 6 10 5 17 7 19 -30 80 35 22120.0246
8 M16 x 1,5 31 54 8 12 6 19 14 24 -30 80 62 22120.0248
SR -#Hk 2, THN
6 M12x1,5 25 45 6 10 5 17 7 19 -30 80 35 22120.0256
8 M16 x 1,5 31 54 8 12 6 19 14 24 -30 80 60 22120.0258
VGt FE

B2
NHALDER B 26.7.2024


http://halder.com/cn/22120.0226
http://halder.com/cn/22120.0228
http://halder.com/cn/22120.0236
http://halder.com/cn/22120.0238
http://halder.com/cn/22120.0246
http://halder.com/cn/22120.0248
http://halder.com/cn/22120.0256
http://halder.com/cn/22120.0258

L I8 B =4

DEEMAE / 5 BRE
35S
R+ WFRF i ms
d;
[mm] [mm] [g]
Lock nuts ISO 8675 (DIN 439), §f
M12x 1,5 18 7,5 22120.0116
M16 x 1,5 24 15,0 22120.0118
Lock nuts ISO 8675 (DIN 439), 7454
M12x 1,5 18 7,5 22120.0516
M16 x 1,5 24 15,0 22120.0518
Rz RsEH
AL AT '
V'
\\' \\
L— &
EsF
For detailed compliance information please select the desired article number.
22

NHALDER B 26.7.2024


http://halder.com/cn/22120.0116
http://halder.com/cn/22120.0118
http://halder.com/cn/22120.0516
http://halder.com/cn/22120.0518

